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procedure NEXTPERM(Exh) ; label Exh;
begin integer k, I, E; Boolean keven;
keven :=false ;
for k:=1 step 1 until N—1 do
begin if F[k]<k then go to OP;
F[k]:=0; keven: ="'keven
end;
go to Exh;
OP: I: =F[k]: =F[k]+1; k: =k+1;
if keven then Il:=1;
E:=P[l]; P[I1:=P[k]; P[k]:=E
end NEXTPERM
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CURVE FITTING:
begin integer I, K, M, N ; real MEANX, MEANY,
SSX, SSY, S1, S2, RESIDU, TEMP ; real array
X, Y, F1, F2, F3[1:100], ALPHA, BETA[1:

PUTY TAMRNDATI 907 R
LKAl & i

1, PHI2, LAMBDA[1:20], F

19], PHI1[0: 21

[1:21];

READ(M); READ(N);

for I:=1 step 1 until N do READ(X[I]);

for I: =1 step 1 until N do READ(Y[I]);

MEANX:=MEANY:=0;

for I: =1 step 1 until N do

begin MEANX:=MEANX+X[I];

MEANY: =MEANY+Y[I]

end;

MEANX:=MEANX/FLOAT(N);

MEANY:=MEANY/FLOAT(N);

SSX:=88Y:=0;

for I: =1 step 1 until N do

begin X[1]:=X[1]-MEANX;
SSX:=SSX+X[I]12;
SSY:=SSY+ (Y[I]-MEANY)1 2

end;

CRLF; CRLF; PRINT(MEANX) ;
PRINT(ME-ANY) ;

PRINT(SSY) ;

for I: =1 step 1 until M—1 do

begin ALPHA[I]:=0; LAMBDA[I]: =0

end;

LAMBDA[M]:=0;
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for I: =1 step 1 until N do LAMBDAJ[1]:=
LAMBDAT1]+YI[I1x X[1];
LAMBDA[1]:=LAMBDA[1]/SSX; RESID:=
SSY-LAMBDA[1]12xSSX; CRLF; PRINT
(LAMBDA[1]); PRINT(RESID); S1:=SSX;
S2:=FLOAT(N);
for I: =1 step 1 until N do
begin F1[I]:=X[I]; F2[I]:=1.0; E3[I]:=
F1[I]1 2
end;
for K: =2 step 1 until M do
begin for I:=1 step 1 until N do ALPHA[K
—1]:=ALPHA[K—-1]+X[I] xF 3[1];
ALPHA[K—1]:=ALPHA[K—-1]/S1; BETA[K
—1]:=81/S2; $2:=81; S1:=0;
for I: =1 step 1 until N do
begin TEMP:=F2[1]; F 2[1]: =F1[1] ;F1{1I]:
=(X[I]-ALPHA[K-1])xF2[I]—BETA[K
—1]x TEMP; F3[1]:=F1[I]12; S1:=S1+
F3[I1; LAMBDA [K]:=LAM K1+YI[I
xF 1[1I]
end;
LAMBDA[K]:=LAMBDA[K]/S1; RESIDU:
=RESIDU—-LAMBDA[K]{2xS1; CRLF ;PR-
INT(A[K—1]); PRINT(B[K—1]); PRINT
(LAMBDA[K]) ; PRINT(RESIDU)
end ;
PHI2([1]:=1.0; PHI 2[2 :=PHI 1[0]:=PHI 1
[17:=0; PHI1[2]:=1.0; F[1]:= MEANY;
F[2]:=LAMBDA[1];
for K:=2 step 1 until M do
begin F[K+1]:=0;
for I:=1 step 1 until K+1 do
begin TEMP:=PHI 2[I]; PHI2[I]:=PHI1
[1J; PHI1[I]:=PHI1[I—-1]—ALPHA [K—
11 x PHI1[I]-BETA[K—1] x TEMP; F{I]:
=F[I]+LAMBDA[K] x PHI 1{I]
end;
PHI2[K+1]:=0
end;
for I: =1 step 1 until M+1 do
begin CRLF; PRINT(PHI1[I])
end;
CRLF;

e
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for I:=1 step 1 until N do
begin CRLF; PRINT(Y[I]); PRINT(F 1{I]);
TEMP:=Y[I]-F1[I]; PRINT(TEMP)
end

end
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FACTORIAL DESIGN:
begin integer I, J, K, M, N, W1, W2;
real FN, W;
integer array Y[1:256], SY[1:128];
READ(K);
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N:=21K; FN:=FLOAT(N);
M:=N div 2;
for I:=1 step 1 until N do READ(Y[I]);
for J:=1 step 1 until X do
begin for I: =M step —1 until 1 do
begin W1:=Y[2*I];W2:=Y[2%]1-1];
SY[I]:=W1+W2;
YM+I]:=W1-W2
end;
for I:=1 step 1 until M do Y[I]:=SY[I]
end;
for I:=1 step 1 until N do
begin W:=FLOAT(YI[I]);
CRLF; PRINT(D);
PRINT(W/FN) ;
PRINT(W * W/FN)
end

end



